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Worksheet Name__________________
Gas Laws Date________ Hour_______
A
5o 1. If 400 cm3 (400 mL) of oxygen are collected ata pressure of 980 mbar , what }E e o
volume will the gas occupy if the pressure were changed to 940 mbar? L_m“mmj
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2. What is the volume of hydrogen at a pressure of 1. 06 atm. if 200 cm? 35@ e i,

\
v of the hydrogen were collected at a pressure of 1. OO atm.? i
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3. The pressure on 2 50 L of anesthetic gas is changes from 760 mm Hg to

s 1304 mm Hg. What will be the new volume if the temperature remains Bea(fi‘b
constant? 'a
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4 4 A gas sample occupies 200 L at 760 thim Hg. What volm:ne does the gas @&;« !ff‘ g
occupy at 400 mm Hg?
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5. Nitrogen gasin a steel cy]mder is under a pressure of 150 atm. at 27°C T
y¢  What will the pres?ure iri the tank be if the tank is left in the sun and )A A >

the internal temperature rises to 559C? .
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6 If a sample of a gas occupies 6. 8 L at 3270(: what will be its volurne at

b g 5.27°C if the pressure does not change?
: T 2R+ QBT

\fé — V’au ' h_,_éﬂ ?L,. B \/9 . | = (400.&5” }/\
‘?‘E To éi;::»::n‘g‘“éfkkfiw Do (S~ - 23 £ DIADUS
) “ = Poo (T K




e

Worksheet , A , page 2

A Gas Laws

7. Agas o_lgcuples a volume of 560 cm? at a tempera{"ure of 100@(2 To what Ch s [

: tempera‘@ure must the gas be lowered if it is to occup)P 400 cm37 Assume b :
conjtant pressure. : N ; ém c+ IS
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8. What is the volume of a gas at -20°C if the gas occupied 50. O cm3 at a C&Ata’

temperature of O°C7 Vo Ti-de.e Va
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9. What pressure will be exerted by 0. 450 mole of a gas at 25°C if it is : __f -y
contained in a vessel whose volume is 650 cm3? 8o mL = .GoL froeson
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10. Determine the \ig;fum‘e occupied by 0. 582 mole of a gas at 15°C if the ; T a2
pressure is 622 mmHg.
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11. What is the temperature of the gas inside a 750 mL balloon filled with ﬁf@&{gﬁg E
0. 015 mole Hy gas? The pressure of the balloon is 1. % s Iy e
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12 From the volume, temperature, and pressure, calculate the number of /m
‘moles and the mass in grams for the gas listed below. '
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